Warm Up

Above is a Por'Jrion of a mRNA strand

) Using the codon wheel, identity o ¢ 8/ s
the amino acids produced. . x%% ° 59/ ¢
2 )What type of mutation . %%UNG\?CG U'“ff/UcAG (o
occurs when one A AN C Y
nitrogen base replaces | & C
another nitrogen base? S U
3) Replace the +irst v & G
with a 7, iolanriPy the SﬂiA
amino acids produced. v %,
4) What type ofF mutation & ey
occurs when an extra e

5) Add 2 third U so that the code reads
Idcr\’rii;y Hhe amino acids.

&) Which mutation cduc;cd the most chanac?

nitrogen base is added?



